Perkins - 1976 Monaco GP

m‘

Henton - 1977 Holland GP

R ALARMSEYSTEMS

3




Photo Echedt

nv

|_cobibsz sl

% S p 0= FW ol

= ¢ ) bbb
[™M01] I MO3 M04] [M05] [MO6] [MO7] [M08 [M0S] [M10] [M11] (M12] [M13] [M14 ]

B o e I 25, )
& o ) D& 5 BT,
[M15] -ﬁﬂ Mi7 [M18 Ew [W20] M21] [M22 @ M24 M25] [M26] M27 ] E

Y

Jf

Left n_u_i

/k\
[M29] | _|uL [M32(M33] [M34] (M35 ] Urmss) ¥ (w37 (M38] (mM39) (Ma0] (M41) [M4Z] (M43 @ @
Left . v-:i!q.
= 3 ,,@ w‘“..l‘. ‘xw-&_ . ” = e AM/OV ,/1“ N,,= ﬂ): - ﬂ.) ‘W /Z(mvw
(W46 [M47) [Mag) Mag | M50 [Ms1] [M52] (M53] [Msd] [MS5) [5G zmm [(M58]  [M59]
Only Kit 2033 - 2034 - 2038 ‘Only Kt 2030 - 2031 - 2032 =
ﬁﬂ SESS N g/ I y/ / /\\f,

E‘mb_ M62] [M63 z_m& [M65] I [m67] M68] [M69 I M71 sE [M73] [M74 ]

P ooy wazmu- Oy 235 § n...__tsaw o,:x..z:‘ -
dp oo @088 @
u B | & I T : — = ' ) o

= ] 2 P P P o - & 1] -
M75] [M76] M77 | (M78] [M79] [M80] [MsT][M82) [M83) M84] (M85 [Wee [M87) [Mg8] [Mg9] [MSO! [MST]

Oniy K1 2034 Gty Lowgp (1877
o .

Fios
N
3 Trumpets
1 - ATATAVATATAVATATS

Wire brass

FrontTires  Rear Tires

Only Kt 2033 Air Funnel Covers

Kit 2032

READ BEFORE ASSEMBLY

-Use n_m._o.nn:_ma cement only.
- Use polyester putty, for remodelling and repair of resin
body and parts.

- Read carefully and fully understand the instructions
before assembley.

- Keep away from small children. Cement, plastic scriber, pin wise, side cutter, tweezers ,Sandpaper ,

- Model car for collectors .Not suitable for under 16 years old. 0,7 mm drill, 1,0 mm drill, 1,5 mm drill and modelling Knife.

B,.. @@ Z@@j \g %% o

EINEIZ5}

Van Lennep - 1975 France GP 2030
Chris Amon - 1975 Italy GP 2031
Wunderink - 1976 England GP 2032
Wunderink - 1975 USA GP 2033
Perkins - 1976 Monaco GP 2034
Henton - 1977 Holland GP 2035

1

PEOBWhile

|
R M70White

White M70

White PE0B

M49 X18

Only Kit 2031 Italy

Cut the according

3 lo figure
1.1\“
f"'
'l-
]
|}
1]
— ]
T ]
——— M69/68 w
| PE33X08
| M92 X18
PE31 X08 -
ﬁ - X02 Whit



Van Lennep- 1975 France GP S — —_— e o

22 3

LARMSYSTEMEN

Cris Amon 1976 ltalia GP

- -%
o

=
= a
= AR -
E=
= N T
- .

mﬁn. pd -77 gs .\:LIZ! u 35
S S . A o ol .

g HE ALARMSYSTEMEN

5 = 79



Mo7 x__u‘_m

M04 X10

\

M02 X10

M20 X10

M18 X10

Mo1 X10

MO06 X10

M09 XF16

PE12

Only Kit 2034 / Monaco a
and Kit 2035 / Holland .D._u:\_._ﬁ M10 X11
PE13
TRUMpETE X1 : :.s Only Kit 2030 / x_wNmaﬁ\
y nly
M14 X1 Y2, £ Kit 2032 / Kit 2033/ M74 X1
M5 X10 , vy
— M15XF16 v e ~ TRUMPETS X1 1
v
: M4 X11 -
M17 X18 4, MB86 X11 .
A Z <& (Vo MIEXF16 |
\ M08 XF16 MO3XF10 A 2o AN M44 X11
A 03 _ , e
M12 X11 - N .. o X1 M74 X11
\ X11
M11 X18 \
: 1
%J =) S M17 X18 M A
oo rirenocos g xE1g | 4
M88 X11
Only Kit 2030 / Kit 2031/
Kit 2032
_ P M56 XF18 M28 X11
M43 X16 S \
Z_MJ X11 M55 XF18
- M40 X16 |
. M87 X11
M19 X10
[
. M22X16 a
7 M75 X11
M21 X16 .
' M27 X1
M89 X11 I EES AT
M90 X18

Only Kit 2034 - Kit 2035 i

Only Kit 2034 - Kit 2035

M49 X18

M31 X110

M23/24 X18

M46 X11

ke 2505 g

M35 X11

M30 X11



. o
7 =, F_ ! 203d11X
01X 9ZW ; [ |©
WX ZLW - OEXSEN £03d1iX | Rl
——— F — .
“ Dl |# | X . X
| @—‘ ] l! LLX EOW
, _ Lo , . o ,_ A XT | "
_ | LLX LZN AN = ’ o 4 | . :
N | . 3 N | BLX 8L g
ILXPEN - o= w = ; < e _ T LIXZOW .
, A5 : o P £03d 11X
‘ = | . €03 LIX ﬁF |>
10X ZZ3d - T i KO S oadTIX o
. . J R [( vOW
—— . = £03dLX | )
~ R | WXZON |\ o .
g : 7 | eNUM0€3d | =Y Scem S9N _ L
LX813d Gl ,, _ £03d LiX
: . A - . joe|g - puejjoH SE0Z UM
‘ hu—‘ VSN - £€0C a_mw_x M_Eo * —‘ SUIUM 99N o ; - 3)IYM - OOBUOW E0Z UM
Ay = B e 1| - |
| —i5a PueiBua Z£0z u - Aley 1£0Z Ay 0c3d MM r4 _._ ~ OlUM- VSN EEOZ N
FEX LN | z asueiq 00z WY AlUO uejbu Iy pue — Auo
ol e pueiBu3 Z£0Z X
SE0Z I - vE0T ! 20X 20 Alen 1£0Z U - 89ue1J 0£0Z Y AlUO
= o OWXEBN e uxsem
=3 7 .‘T.‘ ; ,, : B 7 ,, i
“ X EEW LIX ZEW | a9 '
9XTIN | ¥ p— _ | ™ )
| LIX EBIN leeuMisy 189y 013
BLAX9EW  QIX ESW
‘ - o BIX qes 2 awow ” 50z uy Aluo
91X 6N 814X LPI B S EX , F—. ‘
. e == - - 5 |38 YM Juol4
814X ¥SW 1 >
9zad . LLX 0SW i
(e, | . )
IR LIX SEN 5 FLLX 9N e
, T o] ; SR (— =
_; . @%ﬂ@rﬁ LIX ZEN \ / w..‘.k L .ks;) BLX 2SN .“aﬁo !/ ,_ LLX 08W
(3 | 'y A TATRERY H.I‘..ﬂ..‘ = ...!.“. .’- L ._‘ ]
- 3: S 3§ 81IX8E/LEW ‘ 5T - _
Pt . o - P i LIX 28I - LLX LB
) .i.» ] |eaUM Jeay
...J.”.,, -




